A5G A BHREEL A E B RBATI R

11345 B #4157 P ERRASE
CRRAS @/ EHEEANSEM - BART ¥
ny V%R r] 1 30 nd LS

— - H2EER.8M B (£ 649)
( D). A48 ARMEBTHIFHEEARK 2.6 2RO EFTH > FREERI BT
BAESDVEFAR?2(MI0.6 FH AR (B)B.T6 FHAR(C)5.4FH~R(D) 3.64
P hGSE :
( C)2mATREAA 8 HAAL EFEHE 10 eFTAZS 22000 &)
RIS LT 3 GAERG RAEFESVNMAREAE R Z6NRTY
(A)18 8 (B)IT & (O)16 8 (D)15H B °
( A) S AREID ARMEFHACEHERE Ll ZRAK » &2 RAKENRHRM
F) > BEARFoBAEGMHREE AR ? (M3 AR(B)3.02 2R (C)3.05 ~R
(D)3.06 R
( C) A —HEAT. 1IN B FEHAZTERR > RF TR ERGE—B 0 SEEREY
BERRYGREN? (A) 17T (B) 16 (C) 15 (D) 14
( B)DG. BB I2AEGFAKFAHES  HTEI005kFR > % 100 5kF R RAHES
MOARATHRKR"F B FR?
(M% -85k B) # 9% (OOk 8% (MH&F 9%
( D)6 IErFEEELitT 1.0 e EZ I NE/6F - HERURRE LD
NE/BERERE R DN ERERAERZROGFHREL S DT
(A) 34 »2/85(B) 38 2 2/85(C) 32 2~ E/85(D) 36 X E/BF °
( B)T. 125024 i ANBEE IR EE > GRRR S D?
(A)12 (B) 36 (C)24 (D) 48 -
( A)S. Fmpaptr BOMERAT Bw00-1) FABEEZE42) AIA
2B 0w EmE? (A) BN (B) BE (C) ES (D) FHEE -

— RAXEEH68 HFE65(E369)

( B )l. answer (A) EaA BmE OF—@ D) &4 -
CA )2 belong (M))BH®» BE® CHEx DlETFH -

( D )3. engineer (A& % @B)E#sy (O+— (D)6 -

( C )4. computer (A)4ridiey (B) #£Fey (C) € DA% -

(A )5 course (A) #£ (BEE OQOF)LFHF4HHk OMP -
@6 06 you like some apple juice? (A) Does (B)Are (C)Would (D) What

Nl



